h T 1B @ E X
1[5 HmE | BESR| 26.04m [ FEMER]| 23.79m |
H i & o] 3 £ B o
_ EH _ =
R B
ZKER ZKER
BRE BERE
EE EE
B B {EFT 2.26m e
EIES] 7.06m EIES] 7.06m
R T=E Ry T=E
ERHAEHE |ERH AHWE
FEEZ1 16.73m FEEZ 16.73m
i Hi 26.04m it Bt 23.79m
%=
1B OE B
1B R iR | %R 443.69m || FEHA:MIR | 246.51m |
=] i = il 5E HA Fi-i i
__ 3] _ £
BREEERE P ES 1 18.32m |[ERHEEHE FEEZ1 18.32m
EHEE FEEESZ2 21.19m ||[EHE= FEEER2 21.19m
REE EV1 REE EV1
HBEEE EV2 BEEE EV2
RB=1 | 12.32m |EBRTF1 50.07m [[EER=1 | 12.32m |EETF 1 50.07m
2R VET EBT2 44.55m ||£&K YR E1 EBT2 44.55m
EXVES EEF3 6.21m [[£FY R E2 EF3 6.21m
EEE EBT4 3.62m [[EEE EBT4 3.62m
EACES EYEET 1 39.73m |§21g= EYEBT 39.73m
Binz=E2 BimE2
% B #9h—{190.89m EA=loLom]s
HA MA
MA2 A2
MA3 MA3
AL MAL
MAS MAS
MA6 MA6
HEREK] 466m BERK] 466m
J3F J3E
HEBREF| 31im BESFEm
HEXZF| 3.18m BEXFEm
BFoyvh—=F BFOvh—=F
EHEREE EHEREE
%E+=E] s40m *&E+E]  840m
ZFOvH—F ZFOvH—F
EmE fif fm =
BmE BmE
BINE 24.71m BRIRE 24.71m
RIEERIE SEERIE
EREEES SREE
HERZE EHERE
TLEE TALEE
R REE
SRAE=EER SR =E{ERT
ERE | 12.75m ERE | 12.75m
AT 44369m E 246.51m




2 B mE R

[ ZEERERE | B % Aln1.685.66m

EHAETR[1.646.55n |

H H & 2 3 # b &
— BR — R BB i
ERE 55.25m |[fHEX=E2 | 12.08m |ERE 55.25m [#HEXZE2 | 12.08m
LEE 10.97m |[#EEREE] 1070m |BEE 10.97m |[EZE AT 10.70m
BE 6.03m [[#=E= 9.22m |[iA= JEES 9.22m
BEREE EEEE] 1229m |[BERAEE EEEE] 12.29m
RRE 27.79m [[fREEE= | 34.19m [[RE=E 27.79m |tREEEE | 34.19m
I 13.78m |FAEE-Z H 55.39m |IGEE 13.78m |3 -% H 55.39m
FfRE=E [ 13.78m [[hRsE] 12.89m |FIFREE | 13.78m |[hEst¥] 12.89m
EEE 13.78m (PR 6.41m |#FHEEF{ 13.78m |[FE#HET 641m
EIfAE &Y 13.78m |[SFEIE BlaFE#L 13.78m |<F@ET=E
HEZE | 28.60m |[#EAEY] 2014m |KEE | 28.60m [fEAE] 2014
AREE=E2 | 1086m [BEZAF] 1.99m |[4AFE=2 | 10.86m |BE & F{EFR2
AEE=3 | 10.86m [|ABR=3 | 7.13m |[AE=3 | 10.86m [|[AEKR=3 | 7.13m
INSEET | 45.43m [[RIE2 9.60m |'"MEE=E | 45.43m [[HIE2 9.60m
£E DERZE| 897m |EE DERE| 8.97m
YmE L—ILRE  847m |¥MEET L —ILRE  847m
BEBF] 6.06m [[BIEE 6.89m |B%8 B F{EFR AEE 6.89m
BiE4&F] si12m (ERER#ERE] 67.40m |8 & F{EAT1 BRRRE] 67.40m
2= | 75.73m [BERE] 547m | K£E=| 75.73m |[BEBRER
BFEKR] 0.08m |[XfRiEEE 1940m |BFEKT  0.08m |[XfRiEEE 19.40m
ZFEK] 30.95m |XFRCT= [ 24.12m |&KFEXKT 30.95m [XECT=E| 24.12m
EEE 19.84m |XERIZVEE 34.34m [HEE 19.84m |[X#RIZ2EZ 34.34m
H—/N—=F X$gH—4 251m |[Y—/—2=F X$ER—4  251m
EE DIBERY] 869m |BE DEEHFT  8.69m
Felh DIEREY] 10.75m |FEIE DIE%E] 10.75m
BAE =1 | 1099m |BEE =1 | 1099m
BXRES] 097m [[ZE=2 | 1099m |AXKEHE] 097m [ZZE=2 | 10.99m
BXRER] 1.67m [ZE=3 | 1099m |BXEE] 1.67m |[ZZE=3 | 10.99m
BXRES] 1.67m |ZER=4 | 1099m |AXKEHE] 1.67m [ZZE=4 | 10.99m
FEEZ 16.62m [FZ2E=wi] 23.58m |REER1 16.62m |[Z2E=R1] 23.58m
EEF5 76.15m |[5tFMEY 36.10m |EEFS 76.15m |5+ FBY] 36.10m
EET6 3.71m |EEE%E] 1749m |EBTF6 371m | EEEHF] 17.49m
EBF7 1553m |5\ EZ B 4.82m |EBETF7 15.53m |5 E Z BRERT
EETF8 42.15m |5+ kB F{ 10.97m |EE T8 42.15m [\ B FEFfh
EEF10 8.66m |4t & F{ 10.70m |[ERF10 8.66m |4} L F1EFR
=1 | 20.67m =1 [ 2067m
FRFIE 33.82m FRFIE 33.82m
ZEZH] 540m EFHZM| 540m
REHRE] 501m BREEET 501m
ERE EAE 9.08m
NHERE MAZER] 598m
EBHEH] 3568m ERETH] 3568m
ERYRE ERYRE
ZRET| 11.11m EREBT | 11.11m
== [10252m EHE  [10252m
EHREE EHREE
&4 - AR 200.90m #4& - AR 200.90m
e 2 21.12m FEE%2 21.12m
FEE%3 8.76m FEER3 8.76m
EV1 11.47m EV1 11.47m
EV2 9.28m EV2 9.28m
EV3 8.69m EV3 8.69m
EVi—)U| 555m EVii—JL  555m
ERF10 8.56m EEF10 8.56m
B9 48.90m B9 48.90m
SNEBETF] 6.43m SEEET]  6.43m
S5 EEBF] 513m 54 EEET 5.13m
JEUEBE T2 32.21m EUBRTZ 3221m
B [567.79m Bt 1,117.87m E 547.58m &t |1.098.97m'

XEV1~3(I2fEmiEIZEt LLTLVS,



3 M m | =

SfEFwE | BEEiR|1.670.58n || FE#AEIR | 1,570.84nd |

H H & i 3 # b h%
— 7 — 1773
[EER 11.80m |ZSHA= [ 23.20m [E=a 11.80m [|ZFHAE
[EEH] 10.73m |BEK=1 [ 15.83m |[EZE1 10.73m [BR&K=1 | 15.83m
[EER 10.73m [E¥A0EY] 14.13m |[E=E2 10.73m |(E¥A0IEY] 14.13m
E=3 10.73m [|F:BYR  3.89m |{E=3 10.73m |[RiEY+]  3.89m
[EEX 10.73m |¥i&E2 [EEL 10.73m |¥i&E2
E=5 10.77m |BEE2 5.90m |{E=S5 10.77m |BHEE2 5.90m
AKE1 34.37m [[FAPE2 8.06m |4FR=E1 34.37m [[FAPE2 8.06m
ARE2 | 3437m |[FEEE] 220m [4FK=2 | 3437m | FEEE] 2.20m
AR=E3 | 34.37m [|BFFErr| 15.35m |4FK=3 | 34.37m |BFErT1
ARE4 | 34.37Tm [|ZF@Err| 12.24m |4FK=4 | 34.37m |&ZF{ERT1
AKRES | 3437m |[ZB8@E] 5.21m |[4EE=ES5 | 34.37m |2 BB{ER3
4FK=E6 | 34.37m &2 1044m |4FK=E6 | 34.37Tm [[F2YUx] 10.44m
AFRZE7 | 3437Tm |c@EieiE] 17.92m |4K=E7 | 34.37m ||PE@EmzEy 17.92m
ARKRE=ES8 | 3437Tm [|&@E2 | 24.23m |4KK=E8 | 34.37m R E2 | 24.23m
AFR=E9 | 3437Tm |F#E=1] 9021m |[4K=9 | 3437m |BEE=1{ 9021m
[EEL 10.14m (E6HEE] 18.75m |{EZE6 10.14m |[EHFEZE] 18.75m
E=7 10.14m =1 18.75m |[E=E7 10.14m =1 18.75m
{E=8 10.10m [[#83%=3 | 10.33m |{E=S8 10.10m |[#BE%ZE3 | 10.33m
E=9 10.10m [[IR&=1 [ 15.94m |E=9 10.10m [{REE=1 | 15.94m
=10 [ 10.10m [[{RE=15 281m [HE=10 | 10.10m |[{R#E=15 281m
E=11 10.10m [[niE=1 | 10.16m [E=11 10.10m |AEE=1 | 10.16m
=12 [ 10.28m [[Z==5 | 12.30m ME=12 | 10.28m |[Z==5 | 12.30m
E=13 [ 10.31m [|ZZ%=6 | 1250m ME=13 | 1031m [FZ2E=6 | 12.50m
E=14 [ 1031m [[BEEE2 21.07m [E=14 | 10.31m [[BEEE2 21.07m
EZ=b 11.82m |[[REER3 21.87m |{E=b 11.82m |[REEE3 21.87m
[EELS 11.82m |[EV1 [EELS 11.82m |[EV1
E=d 11.82m |[EV2 E=d 11.82m |[EV2
FTAIL—1202.82m [[EV7c—JL| 23.64m |TAIL—L202.82m |[EV7R—JL] 23.64m
T4 J)L—1200.11m |[EV3 T4 JL—4200.11m |[EV3
HEE1 5.73m |[EVFE—IL  6.85m |EE=1 5.73m [EVE—IL]  6.85m
ZEME]  984m [FERT1 | 41.71m |Z BHIER1 BEETF1 [ 41.71m
TREEE] 1.83m |[FEEET1 | 6451m |FREEE] 1.83m |fEEET1 | 64.51m
FHE 7.77m |[FEEE T2 | 77.23m |FARE1 7.77m |[FEEETF2 | 77.23m
ZEME] 5.13m |[EER T3 | 11.86m |Z HMEMR2 FEEE 3 | 11.86m
{ERr1 2.78m [[ALEEF1 | 52.54m |{Err1 JLEEF1 | 52.54m
{Fr2 2.78m [|EEEFF1 | 30.18m |{Efr2 HET1 [ 30.18m
ME BEEmR] 244m |E1 BiE @] 244m
PN 23.17m |BEERR]  244m |iB=1 BEEA]  244m

AT 1,670.53m B 1,570.84m




4 [ @ B R

ABS S HRE | BEER|1.384.15n || FERAEIR | 1,260.79nd |
H H & i 3 # b i
— TRE — TR
[EELS 11.66m [[#EHM=3 | 17.85m [{E=e 11.66m [[HEH=S3
[EESS 11.69m |[ZEENEE] 20.48m |{EZEf 11.69m |[ZEmESEE] 20.48m
[EESH 11.69m || B F{ErrY 17.31m |{E=g 11.69m ||BF{FErr2
E=h 11.69m ||[ZFEfR] 18.60m |E=h 11.69m ||[ZFER2
=15 991m |[Z BME] 4.92m |fEE15 9.91m | Z BBYEFT4
=16 9.91m |FAES 7.99m ME=16 9.91m |FAMES 7.99m
AREE10]| 3437m [@E=3 | 589m |4FE=10]| 34.37m |[BEE3 | 5.89m
A4FKR=11] 3437m |BEFERAANR] 3.02m |[4FK=11] 34.37m |EFANR] 3.02m
4FR=E12| 3437m | FREEE] 3.34m |[4K=12| 3437m ||[FREESE] 3.34m
AKRE13] 3437m |[&E4S | 17.43m [4AEE=13] 34.37m |[&E4S
AKRE14] 3437m |FEE =] 96.03m [4FK=14] 34.37m |[FEZE =] 96.03m
AFR=E15]| 34.37m (B EEr] 2.50m |4FK=15]| 34.37m |[BEEfR4
AK=E16| 34.37m BEEER] 2.50m |4FK=16| 34.37m |BEE{EFRS
E=17 | 1018m [[E¥pniE] 289m |[B=17 | 10.18m [(B¥IE] 2.89m
=18 [ 10.15m [[#83X=4 | 10.14m [HE=18 | 10.15m |[#BEX=4 | 10.14m
=19 [ 1015m [[E=2 | 10.23m [ME=19 | 10.15m |[JLE=2 | 10.23m
=20 [ 10.15m [Z=R=3 | 12.14m [HE=ZE20 | 10.15m |[Z=R=E3 | 12.14m
fE=21 10.15m |[Z==4 | 12.25m |[EE21 10.15m |[Z2E=4 | 12.25m
E=22 | 10.15m [iE=2 13.55m =22 [ 10.15m [iE=2 13.55m
E=23 | 10.32m [&E3 | 16.32m [E=23 | 10.32m | RES
E=24 [ 1011m [[BEEE2 21.07m [fE=24 | 10.11m [[BEEE2 21.07m
E=25 | 1011m [[BEE3 20.33m [fE=25 | 10.11m [[REEES 20.33m
{REEZRI] 37.27m |[EV1 {REEERI] 37.27m |[EV1
HE=2 | 16.29m [[EV2 RE=2 | 16.29m [[EV2
RE=3 [ 16.29m [[EVsr—JL| 1511m |{REE=3 | 16.29m |[EV7R—JL] 15.11m
RE=4 | 1452m |[EIEEF3.[ 55.15m |{RE=4 | 14.52m |[EEEF3.| 55.15m
Ri&E=5 | 1242m |[FEER T4 | 92.68m |{REE=5 | 12.42m |[FEEE T4 | 92.68m
R#E=6 | 12.42m [[dLEEF2 [ 70.65m |{RE=6 | 12.42m [dLEETF2 | 70.65m
ESHEE] 19.10m |EEEE T2 | 13.89m |&HHEE] 19.10m |[EREEF2 [ 13.89m
FAIL—1212.32m FAIL—1212.32m
k=2 [ 12.07m BR&R=E2 [ 12.07m
BEER| 2.10m BEMER
BE2 23.83m BE2
EYALIEY 10.58m SEYALIEY 10.58m
E2YxrY 9.03m FHiEBYrY  9.03m
TE)RY  3.01m TRIRY  301m _
&T 1,384.15m ET 1,260.79m
T 7 HER
| f«r&wfﬁﬁﬁfa | HE:E#R[738.94m | EB:53#(505.09m |
H = i & 5 7] i3 &
TAT 7R T='4’77E2E_ TAT 7 1 TA5 7 B2k
TRERE = | 53.18m |e = 54.16m |fREEE= Be=E 54.16m
seEum=E]  3.72m |[FIRIE 9.23m |E&mHE FIRIZE 9.23m
EE 8.18m [[FHE= 19.80m |EE HHEE 19.80m
[o=-zx2=] 6476m ||EmiE=A | 18.65m [wz-#z==| 6476m |[EEEA | 18.656m
smpmmzz| 67.30m ||EHEEB | 18.65m |smsmmz=| 69.36m [|[EiE=B | 18.65m
gFovs—=| 10.01m |(HEE 19.20m |2Fovn—=| 10.01m |{(DIEE 19.20m
=Fovh—%| 10.01m |REEBE| 43.86m |x¥ovr—=| 1001m |[REEE=| 43.86m
g87ovo—2| 597m [F—IL—L| 62.56m |B7rvo—= F—)L—L| 6256m
EFLvT—F 597m [F-r—sntsu| 1540t |&Fov7—% % — L — Ln E Ay
£FIEE| 19.20m |[2xa——| 8.79m |£Fim=E mxa—+—| 8.79m
YEmE 1 BFrAL]| 11.04m |RE1 BFrAL
TSR ZFhAL|  6.08m |ror—smnz XFrML
ILA—%| 698m [gEEr L] 4.22m |TLA—%| 6.98m |&EELL
BFrAL| 226m BT 9.31m |BFrAL BT 9.31m
ZFrAL| 240m |[sva=—] 4312 |&ZFrL /NLa=—
BEENL| 449m BIEENML
FEs E% 5.18m 524 5.18m
BT 96.51m BT 83.82m
TR TR
EOF4—| 28.80m [
Bt [394.87m B 344.07m gt [250.12m g 264.21m




